
Handout 3‐C (With Answers)

Start with Total 
Operational Costs

Hours 40,000       
% of Hours 50%
Hours Cost $806,100

Hours 80,000 Hours Cost $806,100
Hours Cost $1,612,200 Miles Cost $307,740 Variable Cost $1,113,840

Variable Costs Hours 40,000        Sub‐Total $1,113,840 Fixed Cost $363,961
$2,638,000 % of Hours 50% % of Total 42% Total Cost $1,477,801

Hours Cost $806,100

Total Operational Costs Miles 300,000      Hours Cost $806,100 Variable Cost $1,524,160
$3,500,000 Miles 1,000,000     % of Miles 30% Miles Cost $718,060 Fixed Cost $498,039

Miles Cost $1,025,800 Miles Cost $307,740 Sub‐Total $1,524,160 Total Cost $2,022,199
% of Total 58%

Grand Total $3,500,000
Miles 700,000     
% of Miles 70%
Miles Cost $718,060

% of Fixed 42%
Fixed Sub‐Total $363,961
$862,000

% of Fixed 58%
Sub‐Total $498,039

Allocate % of Fixed 
Costs to each Service 
Using % of Variable 

Costs
Add Fixed and Variable 

Costs to Calculate Total Cost
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Separate Operational Costs into Fixed Costs and 
Variable Costs. Separate Variable Costs into 

Hours Costs and Miles Costs
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Add Hours and Miles 
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Calculate % of Variable 

Costs
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